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22-1)(224+1)(2* +1)(28 + 1)(2'6 + 1)

24— 1)(24 + 1)(28 + 1)(2%6 + 1)

= (
= (

= (2% —1)(2'° + 1)
=27 =1




20053 + 1

1o 15
2005 x 2004 + 1 o gks Fotefe.

> E

> ®eh: 2006




18.

a+b+c=1, ab+bc+ca=1, abc =1L 4], a3+ b3+ 3 2] F27?

® 3 @-3 OGn @ ®

Wl
NeB i

B )

(a+b+c)?=a*+b?+c?+2(ab + be + ca)
l=a®+b>+c*+2

L @A e =l

a® + b3 + ¢3 — 3abc
=(a+b+c)(a*+b?+c?—ab-bc - ca)
A+ +3-3=1-(-1-1)=-2

LA+ =1




a4—a2
19. ala+1) =19 o, —— ] §L27
i

©)

Wl

@1 )

N | =

D;

ot =

B

ala+1) =194

a>=-a+1

a4:(—a+1)2:a2—2a+1
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